Split Case Double Suction Centrifugal Pump

SPLT & SPLT.M SERIES (50 Hz)

Ex) ATEX

TECHNICAL MANUAL

Mas Grup E QE @ ) CE€ ko B @

KR SEFRO

Revision No: 03 May/2018



SPLT & SPLT.M Series
Split Case Double Suction Centrifugal Pump

General Information

Fields of Application

» Water supply and booster stations.
* Irrigation, overhead irrigation.
 Drainage stations.

» Power stations.

* Industrial water supply systems.
 Firefighting systems.

» Marine applications.

» General applications in refineries.

Pumped Liquids

Thin, clean, non-aggressive and non-explosive liquids
free from large solid particles or fibers.

For special applications, please consult to MAS DAF
MAKINA SAN. A.S.

Design

Single-stage axially split casing pumps with double
entry and radial impeller.

Double entry, closed impeller is hydraulically thrust
compensated.

Lower casing is in-line design, suction and discharge
nozzles are on the same line.

Upper casing is self-aligning and it is easy to mount.
The NPSH values are reduced and high suction lifts
are possible thanks to double suction impeller.

Two different designs can be applicable:

1. Long shaft design: For soft packing stuffing box, the
length of the pump shaft is longer. It is also possible
to use mechanical seal on this design.

2. Short shaft design: For mechanical seal
applications, shaft length can be reduced. Therefore,
compact and rigid pumps are available.

Pump and motor are separate components connected
to each other via flexible coupling and mounting on a
base plate. It is also possible to couple the pump to the
diesel engine.

Bearings

For pump groups A, B and C, there are ball bearings at
the both dead and drive end of the pump. For pump
groups D, E and F, a cylindrical roller bearing is installed
at the drive end of the pump and there is a ball bearing at
the dead end of the pump.

MAS |DAF

Mas Grup
Shaft Seal

» Uncooled soft packed stuffing box with lantern ring is
essential for the long shaft design.

 There is a leakage setting device on the washing water
line of packing.

« Different types of mechanical seals are available on the
long or short shaft design pumps.

Technical Data

e Suction Nozzle : DN 80... DN 500

» Discharge Nozzle : DN 65...DN 500
e Operating Pressure .16 - 20 Bar
* Temperature Range :-10-110°C

» Speed Range
» Capacity Range
 Head Range

: 960 — 3500 rpm
:30-4000 m3/h
:15-160m

Identification Code

SPLT.M 100-250 A

Design <—|
Mechanical Seal o |
Application

Discharge Branch
Nominal Diameter (mm)

A

Nominal Impeller
Diameter

A

Impeller Type

SPLT 100-250 A

Design 4—1

Discharge Branch
Nominal Diameter (mm)

Nominal Impeller 4
Diameter

Impeller Type <




SPLT & SPLT.M Series
Split Case Double Suction Centrifugal Pump

MAS

DAF

Technical Advantages
1|A] S | £y — = = SR E
2| | o Oy —&—
EEEE—@
|| |y & oo
—@—fume
SPLT
4 100-250 % e %—m—@
5 SPLT é% %
100-315 - —— e
c| . ]@—E— H—gue
6 150-250 % —_— $—-EEEE3
M .
8| | e £y —&
E=="_==1m
SPLT
9 D 150-400 % - $_
10| | 5 Oy —& S-H-6—8x
1| | 55 [EOy &
L == __ == R
12| | i |0 — &
18] | i |20y —&—
14| | g [0 — & e
15 E zsszzu % % a_E_ @_E HU 314
o ||y &
ol | g
18| | B Oy — &
SPLT HU 36
19 350500 - - a—E_ ®_E 6316 C3
F
20| | S |E0— B e
21| | do0a00 % — %—E—Q—E—Q—E s

% CASMG % IMFELLER WE—F—Jowef—t—f SHAFT @ :L?(FFI'G H

BEARMG
HOUSING

2

@ GLAMD E BEARING

Mas Grup




SPLT & SPLT.M Series
Split Case Double Suction Centrifugal Pump [m m]

Technical Advantages Mas Grup
Innovative Casing
- InHine design.
- Shart distance between bearings and also Hgh Performance Inrpeller
short sheft. - Minimum axial thrust because of double
- Leakfree thanks to compact casing split flange suctioninpeller.
with long prestressed bolts. - Optional impeller wear rings.
- Change of the direction of rotation. - Impeller passage with excellent hydraulic
- Easy mounting of seif aligning upper casing. characteristics.
. Adusting Tap
Easy to Senvice Shaft ) | Thetapadust e amourtof
- Conpletely sealed and dry for zero corrosion. water ging o e sfing bex
- Short and rigid with negigle vibrations. @ ‘ @ - Enslyaxiisiaie
- Replaceable shaft protecting Sleeves. ‘
- Assembly without reguiring adjustent.
- Fast and easy asssembly/dismentling of the —— 1L 7T T
rotor conponents due to elastically prestressed 7
mountings.

|
8
T
N I .
b
Ve ~
e ™
/ \
/ N\
// \
/ \
Seals tailored to the application I/ \
- Asbestos-free gland packing meeting drinking Long Life Bearings
water quality standarts. - Gease-lubricated ralling element bearings for
- Split glands, anple space for servicing. long service life in all operating range.
- Mechanical seal applications are available. ] - I E— - ] - Closed bearing brackets for low-naise and lowv
vibration operation.
\ [
Excellent Efficiency and NPSH Values \\ /
- Smooth surfaces inside the casing and onthe inpeller. |\ /
- Large inlet cross sectional areas for optinum suction \ /
behevioLr. N\ /
- High effidency due to replaceable casing and inmpeller \ //
wear fing. \\ / /
- Quiet, lowwear running due to swirl-free intake elbow N /
with lowenergy loss. N ///




SPLT & SPLT.M Series
Split Case Double Suction Centrifugal Pump

ATEX Description

ATEX Codification
ATEX -95

@ 1 2G /D ¢ Tx (85 °C — 200 °C)

MAS

DAF

Equipment Groups (Annex | of Directive 94/9EC)

Group | Group 1
{mines, mine gas and dust) {other explosive atmospheres gas/dust)
Catagory 1 Category 2 Catlagory 2

Category M 1 | Category M 2 G ] =] D G D

(gas) {dust) {gas) {dust) {gas}) {dust)

(Zone 0) | (Zone 20) | (Zone 1) | (Zone 21) | (Zone 2} |(Zone 22}

For For For equipment For equipment For equipment
equipment aquipment providing a very high | providing a high level | providing a normal
providing a providing a level of protaction of protaction when level of protection
wvary high high level of when used n araas usad in areas where | when used in areas
level of protection wheare an explosive an explosive where an explosive
protection when ikely to | atmosphers is very atmasphere 15 likely almosphere 15 less
when be likely to occur o occur likely 1o occur
endangerad endangeraed
by an by an
explosive axplosive
atmosphere atmosphere

TEMPERATURE CLASS

Temperature class
required by the area
classification

Ignition temperature of
gas or vapor

Allowable temperature
classes of equipment

T1 > 450 °C T1-T6
T2 > 300 °C T2-T6
T3 > 200 °C T3-T6
T4 >135°C T4-T6
T5 > 100 °C T5-T6
T6 >85°C T6
Code | Description

1] The Usage in other non-mining explosive atmospheres

2 2. Category: High level of protection

G For potentially explosive environments due to gases or vapors

T | Temperature class

X | ATEX Marking of the motor manufacturer

Mas

Grup




SPLT & SPLT.M Series
Split Case Double Suction Centrifugal Pump

Cross-Sectional Drawing For SPLT

210 35 200 30 321 02

362 20 261

05 212

MAS |DAF

Mas Grup

401 276 300 360 34 201 270 36

\
\ J
[ == | = e e K
| A
72N ‘ NS
7 7 INSSRN
20 INANNN N
Ii
% | H | N
| 7 7777@%[ﬁ,i:$}7777TT I R —— ¢ :,‘,:,ifﬂffff
[y
\
% | %
§ \
\
\
\
\
_ _ _ [ ?, — 4 — JR _ |
\
\
\ \ /
\
\ /
‘ /
\ \ /
\ /
\ \ /
AN | e
AN s
~ //
‘ >~ | |
e S — l
[ |
320 72 60 400 56 01 211 70 240 54 67 220 363 361
PART LIST
PART NO PART NAME PART NO PART NAME
01 Casing Lower Part 211 Key for Impeller
02 Casing Upper Part 212 Key for Wearing Ring
05 Wear Ring 220 Oil Seal
20 Impeller 240 Soft Packing
30 Bearing Housing 261 Plug
34 Bearing Cover (Dead Side) 270 Greaser
35 Bearing Cover (Motor Side) 276 Adjusting Tap
36 Bearing Housing Cover 300 Stud for Gland
50 Stuffing Box 301 Casing Stud
54 Gland 320 Hexagonal Bolt
56 Lantern Ring 321 Bolt
60 Pump Shaft 360 Nut for Gland
67 Space Sleeve 361 Nut for Bearing
70 Bushing for Seal 362 Nut for Casing Stud
72 Bushing for Bearing 363 Washer for Bearing
200 Roller Bearing 400 O-Ring (Shaft Sleeve)
201 Ball Bearing 401 O-Ring (Stuffing Box)
210 Key for Coupling




SPLT & SPLT.M Series

Split Case Double Suction Centrifugal Pump
Cross-Sectional Drawing For SPLT.M

MAS |DAF

210 270 230 30 50 02 301 20 361 05 65 250 276 34 201 363 36
[
§ \
\
\
\ -
/ \
\ L
© ‘ D
o (E— \ NN
[LL | s ———— | R N 1]
| N
h \
| \
\ \
\
I© 0 0 ‘
B il ——
—————— - —— i |e— e
L il Fﬁ
[
\
\
i
\
\
AN ,‘, =
\
\ \ /
\ | /
/
\
\\ \ //
‘ / /
N \
AN Ve
\\ ' ‘
l ~ ~
| e \
| I \
320 35 200 220 58 01 211 261 212 60 400 401 322 321 72 360
PART LIST
PART PART
NO PART NAME NO PART NAME
01 Casing Lower Part 212 Key for Wearing Ring
02 Casing Upper Part 220 Oil Seal
05 Wear Ring 230 Safety Ring
20 Impeller 250 Mechanical Seal
30 Bearing Housing 261 Plug
34 Bearing Cover (Dead Side) 270 Greaser
35 Bearing Cover (Motor Side) 276 Adjusting Tap
36 Bearing Housing Cover 301 Casing Stud
50 Stuffing Box 320 Hexagonal Bolt
58 Mech. Seal Cover 321 Bolt
60 Pump Shaft 322 Bolt for Mech. Seal Cover
65 Impeller Nut 361 Nut for Casing Stud
72 Bushing for Bearing 362 Nut for Casing Stud
200 Roller Bearing 363 Washer for Bearing
201 Ball Bearing 400 0O-Ring (Shaft Sleeve)
210 Key for Coupling 401 0O-Ring (Stuffing Box)
211 Key for Impeller

Mas Grup




SPLT & SPLT.M Series
Split Case Double Suction Centrifugal Pump

Technical Data

Bearings, Stuffing-Box for SPLT  (Soft Packing Design)

MAS |DAF

Mas Grup

360 300 56 02 05
01 | Casing Lower Part
02 | Casing Upper Part
05 | Wearing Ring
20 | Impeller
50 | Stuffing Box
54 | Gland
56 | Lantern Ring
240 | Soft Packing
300 | Stud for Gland
360 | Nut for Gland

54 240 01 50 20
P - Bearing Bearing Soft Packing Seali
ump type (Motor Side) (Dead Side) (@D2x@D1xbxT) (mm) ealing
SPLT 65-250 6307 C3 6307 C3 B61x@D45x8x55.5 2x(4 Soft Packing +1 Lantern Ring)
SPLT 80-250
SPLT 80-360 6308 C3 6308 C3 B75X B55x10x76 2x(5 Soft Packing +1 Lantern Ring)
SPLT 100-250
SPLT 100-315 . .
SPLT 150-250 6310 C3 6310 C3 BI0XDB66Xx12x75 2x(4 Soft Packing +1 Lantern Ring)
SPLT 125-400
SPLT 150-315
SPLT 150-400 . .
SPLT 150-500 NU 312 6312 C3 @106XD78x14x105 2x(5 Soft Packing +1 Lantern Ring)
SPLT 200-315
SPLT 200-400
SPLT 200-500
SPLT 250-400 . .
SPLT 250-315 NU 314 6314 C3 @116X88x14x105 2x(5 Soft Packing +1 Lantern Ring)
SPLT 250-500
SPLT 350-400 NU 316 @140X100x20x140.5 2x(5 Soft Packing +1 Lantern Ring)
SPLT 350-500 6316 C3
SPLT 400-400 6316 C3 @132X@2100x16x105 2x(4 Soft Packing +1 Lantern Ring)
SPLT 500-500 NU 316 @140X@100x20x140.5 2x(5 Soft Packing +1 Lantern Ring)

Bearings, Stuffing-Box for SPLT.M

(Compact Design with Mechanical Seal)

Bearing Bearing Mech. Seal
Pump Type (Motor Side) | (Dead Side) D'Z:qn‘:;er Sealing
SPLT.M 65-250 6306 C3 6306 C3 235 M3N or MG1
SPLT.M 80-250
SPLT.M 80-360 6307 C3 6307 C3 @40 M3N or MG1
SPLT.M 100-250
SPLT.M 100-315
SPLT.M 150-250 6309 C3 6309 C3 @50 M3N or MG1
SPLT.M 125-400
SPLT.M 150-315
SPLT.M 150-400
SPLT.M 150-500 NU 311 6311 C3 @60 M3N or MG1
SPLT.M 200-315
SPLT.M 200-400
SPLT.M 200-500
SPLT.M 250-400
SPLT.M 250-315 NU 313 6313 C3 @70 M3N or MG1
SPLT.M 250-500
SPLT.M 350-400 NU 315 6315 C3 280 M3N or MG1




SPLT & SPLT.M Series
Split Case Double Suction Centrifugal Pump

MAS |DAF

Mechanical Seal Applications for SPLT.M Mas Grup

BURGMANN M3N

Single Seal
Unbalanced

Conical Spring

Dependent on direction of rotation

05 250

To EN 12756
p1 10 Bar
t :-20...180°C
Vg :10 m/s
Axial Movement | : +1,0 mm
30 58 250
157
/ Part No Part Name
% oo 20 Impeller
30 Bearing Housing
''''' b= 50 Stuffing Box
oo 58 Mech. Seal Cover
220 Qil Seal
250 Mechanical Seal
220 50 20
BURGMANN MG1
» Single Seal
* Unbalanced
» Elastomer Bellows
* Independent on direction of rotation
p1 112 Bar
t :-20...120°C
Vg 110 m/s
20 50 58 220
|
N Part No | Part Name
| 20 Impeller
77 | 05 Wearing Ring
‘ 50 Stuffing Box
%} o 58 Mech. Seal Cover
220 Qil Seal
e 250 Mechanical Seal




SPLT & SPLT.M Series
Split Case Double Suction Centrifugal Pump
Installation Types

Horizontal Installation with Diesel

)

)
ER
£

MAS

DAF

Mas Grup

7 7
7
Horizontal Installation with Electric Motor
A

7

CONCRETE

% GROUND
< STRAFOR

Direction of rotation clockwise
(Viewed from the drive end)

Direction of Rotation / Flow

Direction of rotation counter clockwise
(Viewed from the drive end)

2




SPLT & SPLT.M Series
Split Case Double Suction Centrifugal Pump

Technical Data

Material Options

MAS |DAF

Mas Grup

—
Components Material. No n | o 8 A | 9| d
N < o N o o
3| =[S|9|23
o o (V] — — —
Casing e | 0| O o] o
Impeller e | 0| O o] o
Shaft ° o] o
Casing Wear Ring o| o] o
Stuffing Bo X e | 0| O o] o
Gland e | O o | o e — Standard Manufacturing
Bearing Housing o 0 — Optional
Bearing Cover °
Material Equivalent
Description DIN 17007 EN-DIN ASTM
Cast Iron 0.6025 GJL-250 (GG25) A 48 Class 40-B
Nodular Cast Iron 0.7040 GJS-400-15 (GGG40) A 536 Gr.60-40-18
Cast Bronze 2.1050.01 G-Cu Sn 10 B 584 C 90700
Chrome Steel 1.4021 X20 Cr 13 A 276 Type 420
Chrome Nickel Steel 1.4301 X5 Cr Ni 18.9 A 276 Type 304
Chrome Nickel Molybdenum Steel 1.4401 X5 Cr Ni Mo 18.10 A 276 Type 316

PN 16 Flange Dimension

@Df

PN 10 Flange Dimension

@Df

ZX D

DN
aT

10

DN Df T z 2] B
mm @ mm g mm g Each mm g mm
DN 65 185 145 4 18 20
DN 80 200 160 8 18 22
DN 100 220 180 8 18 24
DN 125 250 210 8 18 26
DN 150 285 240 8 23 26
DN 200 340 295 12 23 30
DN 250 405 355 12 27 32
DN 300 460 410 12 27 32
DN 350 520 470 16 27 36
DN 400 580 525 16 30 38
DN Df T 4 [] B
mm @ mm g mm g Each mm g mm
DN 250 395 350 12 23 28
DN 300 445 400 12 23 28
DN 350 505 460 16 23 30
DN 400 565 515 16 27 32
DN 500 670 620 20 27 34




SPLT & SPLT.M Series

Split Case Double Suction Centrifugal Pump

Technical Data

Pump Flange Classification

Pump Flange
Type DNs (mm) DNd (mm)
(Suction) (Discharge)
65-250 100 65
80-250 125 80
80-360 125 80
100-250 | 150 100
100-315 | 150 100
150-250 | 200 | PN16 50
125-400 | 150 125
150-315 | 200 150
150-400 | 200 150
150-500 | 200 150 PN 16
200-315 | 250 200
200-400 | 250 200
200-500 | 250 200
250-315 | 300 250
250-400 | 300 250
250-500 | 300 | PN10 [T55p
350-400 | 400 350
350-500 | 400 350
400-400 | 500 400
500-500 | 500 500 PN 10

O-Ring Dimensions for Stuffing Box and Seal Sleeve

@d

B |

L @ -

Salmastra Kutusu O -Ringi

Salmastra Burcu O -Ringi

MAS |DAF

Mas Grup

Pump

O-Ring, for Stuffing

Box

O-Ring, for Seal Sleeve

Type ad
(mm)

(mbm) Qnty

@d
(mm)

b
(mm)

Qnty

65-250 -

30

80-250

80-360 145

100-250

100-315 168

125-400

150-315

150-400 190

150-500

200-315

200-400

43

50

60

200-500

250-400 200

250-315

250-500

350-400
350-500
400-400
500-500

260

70

80

Note: There are O-rings both for stuffing boxes and seal sleeves at SPLT. However, since there is no seal sleeve, there

are only O-rings for stuffing boxes at SPLT.M.

11




SPLT & SPLT.M Series

Split Case Double Suction Centrifugal Pump

Technical Data

Keys for SPLT and SPLT.M (DIN 6885 A)

Pump Type Imp((erlrllenr])Key Coupz:]lan?])Key Material
65-250 10x8x40 8x7x55
80-250 12x8x116 10x8x75
80-360 12x8x116 10x8x75
100-250 12x8x116 10x8x75
100-315 14x9x132 14x9x105
125-400 16x10x124 16x10x100 St50
150-315 16x10x124 16x10x100
150-400 16x10x124 16x10x100
150-500 16x10x124 16x10x100
200-315 16x10x154 16x10x100 AISI 304
200-400 16x10x154 16x10x100
200-500 16x10x180 18x11x135
250-400 16x10x180 18x11x135 AISI 316
250-315 16x10x200 18x11x135
250-500 16x10x200 18x11x135
350-400 20x12x205 20x12x135
350-500 20x12x205 20x12x135
400-400 20x12x250 20x12x130
500-500 20x12x185 20x12x135

Key material AlSI 304 and AISI 316 are optional.

Studs for SPLT and SPLT.M

MAS |DAF

| a4 i'g
a b
L

Pump Stud for Casing Stud for Glan Materi

Type D a b L d a b L aterial
65-250 | M12 |15 |20 | 55 | M10 | 25 | 15 | 65

80-250 | M14 |20 |25 | 70 | M12 |25 |15 | 70

80-360 | M14 |20 | 25| 70 | M12 |25 |15 | 70
100-250 | M14 | 20 | 25| 75 | M12 | 25|15 | 70
100-315 | M14 | 20 | 30 | 65 | M14 | 30 | 20 | 80
125-400 | M20 | 35 | 30 | 95 | M14 | 30 | 25 | 130
150-315 | M20 | 35 | 30 | 95 | M14 | 30 | 25 | 130 C22B
150-400 | M20 | 35| 30| 95 | M14 | 30 | 25 | 130
150-500 | M20 | 35 | 30| 95 | M14 | 30 | 25 | 130
200-315 | M20 | 30 | 30 | 95 | M14 | 30 | 25 | 130 | AISI 304
200-400 | M20 [ 40 [ 30 | 95 | M14 | 30 | 25 | 130
200-500 | M20 | 40 [ 30 | 95 | M16 | 35 | 30 | 130
250-400 | M20 | 40 [ 30 | 95 | M16 | 35 | 30 | 130 | AISI 316
250-315 | M20 [ 40 [ 30 | 95 | M16 | 35 | 30 | 130
250-500 | M24 | 40 | 30 | 95 | M16 | 35 | 30 | 130
350-400 | M27 | 40 | 30 | 110 | M20 | 35 | 30 | 130
350-500 | M27 | 40 | 30 | 110 | M20 | 35 | 30 | 130
400-400 | M24 | 40 | 30 | 110 | M16 | 35 | 30 | 90
500-500 | M27 | 40 | 30 | 110 | M20 | 35 | 30 | 130

Stud material AISI 304 and AlISI 316 are optional.

Mas Grup

Note: Since there is no gland for SPLT.M, SPLT.M type does not contain stud for gland.

12




SPLT & SPLT.M Series
Split Case Double Suction Centrifugal Pump

Technical Data

MAS

DAF

Mas Grup

Gland for SPLT
E
/]
fa 2: Q
e
e
oA | oB C D E F ?G .
Pump TYPe | (mm) | (mm) | (mm) | (mm) | (mm) | (mm) | (mm) | Mater@
65-250 37 47 19 88 15 34 15
80-250 555 | 75 19 115 16 35 14
80-360 555 | 75 19 115 16 35 14
100-250 555 | 75 19 115 16 35 14
100-315 555 | 89 31 145 20 51 16
125-400 65,5 | 106 30 155 22 52 16
150-315 78,5 | 106 30 155 22 52 16
150-400 78,5 106 30 155 22 52 16 Ductile Iron
150-500 78,5 | 106 30 155 22 52 16 GGG 40
200-315 78,5 | 106 30 155 22 52 16
200-400 | 78,5 | 106 | 30 | 155 | 22 52 16 G'?:rogzelo
200-500 78,5 | 106 30 170 | 225 | 525 | 18 “Lusn
250-400 88,5 | 116 30 170 | 225 | 525 | 18
250-315 88,5 | 116 30 170 | 225 | 525 | 18
250-500 88,5 | 116 30 170 | 225 | 525 | 18
350-400 103 | 140 30 185 24 54 23
350-500 103 | 140 30 185 24 54 23
400-400 101 | 132 25 170 | 25 50 18
500-500 103 | 140 30 185 24 54 23
Bolts for SPLT and SPLT.M (DIN 931)
Bearing Bearing
PumpType Cover Qnty. Housing Qnty. Material
Bolt Bolt
65-250 M6x20 8 M10x30 8
80-250 M8x30 8 M10x35 8
80-360 M8x30 8 M10x35 8
100-250 M8x30 8 M10x35 8
100-315 M10x30 8 M10x35 8
125-400 M10x85 8 M12x45 8
150-315 M10x85 8 M12x45 8 CooB
150-400 M10x85 8 M12x45 8
150-500 M10x85 8 M12x45 8
200-315 M10x85 8 M12x45 8 AlISI 304
200-400 M10x85 8 M12x45 8
200-500 M10x85 12 M12x45 16
250-400 M10x85 12 M12x45 16 AISI 316
250-315 M10x85 12 M12x45 16
250-500 M10x85 12 M12x45 16
350-400 | M12x115 16 M16x60 16
350-500 | M12x115 16 M16x60 16
400-400 M12x65 16 M16x55 16
500-500 | M12x115 16 M16x60 16

13




SPLT & SPLT.M Series

Split Case Double Suction Centrifugal Pump

Technical Data

Plugs, Greaser and Adjusting Taps for SPLT and SPLT

.M Pumps

MAS

DAF

Pump
Type

Casing
Plug

Qnty

Bearing
Housing
Plug

Qnty

Material

65-250

80-250

80-360

100-250

100-315

125-400

150-315

150-400

150-500

200-315

200-400

200-500

250-400

250-315

250-500

350-400

350-500

400-400

500-500

R %"

1

2

R %"

R 3/8”

R 1/2"

R 3/8”

Ms 58

Pump
Type

Adjusting
Taps

Qnty.

Flange
Plug

Qnty.

Material

65-250

80-250

80-360

100-250

100-315

125-400

150-315

150-400

150-500

200-315

200-400

200-500

250-400

250-315

250-500

350-400

350-500

400-400

500-500

R 3/8”

R 3/8”

R 1/2”

Ms 58

14

Mas

Grup




SPLT & SPLT.M Series

Split Case Double Suction Centrifugal Pump

Performance Range

SPLT 65-250

Curve No:625. a 4P

[MasDAF] 50
MAS GRUP SPLT 65-250 1450 RPM Hz.
- CAPACITY - [fsn)
0 5 10 15 20 5 30
1 | ‘ | | I |
26 L pgpy o o055
_ 83
E TT 646
a 20 =233 7\53
= 60
T
s i X
- e
.'T’ Y i — 50
E
T 40,
10 N \ \
\’//(
5
[
g s
< 7 // 2608 - 7.5 KW
@ & ,/
E 5 ,//...-— 2334 - 5.5 KW
8 4 ’—/———‘/
T SRR 203 KW
~ e
o 2l
1
0
0 20 40 60 80 100
Q- CAPACITY - (m3/h)
- 5 L]
E . /260
x 3 //
8 2038 A
< 1
0

15

MAS

DAF

Mas Grup
m Curve No'625 a 2P 50
MAS GRUP SPLT 65-250 2980 RPM Hz.
0-CAPACITY- [Ver)]
0 10 20 30 40 60
Il | ‘ 1 1 : 1 1
W o 5055 g
- 1
E 8.4
T =208 #ﬁm
(=)
T 802280 h 55
TSROSO
I I~ 2100
5
= 60 4 A
E \@Q 55
40 50
20
0
Z &0
< 2604 - 55 KW|
v 50 :
ﬁ i e 240 - 45 KW
: P
30 2108 - 30 KW
o 20 ,’-/-"4’—-" SRS o
o e
10
0
0 50 100 150 200
Q- CAPACITY - (m3/h)
3 "; l /‘zsns E
v E=ra]
x 6 2108
o 4 /
o 1
Z 5 |
0




SPLT & SPLT.M Series

Split Case Double Suction Centrifugal Pump
SPLT 80-360

Performance Range

[wasDAF]

SPLT 80-250

Curve No:825.a 4P

MAS GRUP 1450 RPM
0- CAPACITY - (Fsn)
0 10 20 30
30 !
L 2760 e 10 5060 g
T
£ \ 713
= 25 AR
g [ 2498 e 7L->\ 65
E 60
- 20
s |— 2264 —-—J——i_*% \
]
-
g N
10 \

5

1]
g 12
£ 270811 KW
1 / ‘
o
E 8 - 2490 - 7.5 KW
o 6 //‘/
z " —______,.._——"""_._._-————-— 2268 - 5.5 KW
o 5 ——

0

0 20 40 60 80 100 120

Q- CAPACITY - (m3/h)

. |
= 4 226 7‘znn
[3
T 3 // L
5 2 —_/

a
= 1
0

16

MAS

DAF

Mas Grup
m- Curve No:025.a.2P 50
MAS GRUP SPLT 80-250 2980 RPM Hz.
O-CAPACITY - Wer)]
0 10 2 0 4 50 &
[ T
|
1204 gypg S0 )
= 67.7
e L TTI7 7950
a 100 1 LB
= I 2449 o |
; 80 L= 2308 \—/
8
F P X
™~
£ w0 "
40
20
100
g 80 2789 - 90 KW
- 8-
P / 2650 - 75 KW
E » /////’ 2440 - 55 KW
g w /4__,_.-—!:;;'45in
. [ 2200 - 3T KW
~ e
o g ﬁ__—_——-‘
0 !
0 50 100 150 200
Q- CAPACITY - (m3/h)
9 1
= 8 | 2789
E-’ Lk 205
T b g
[
o 3
Z 2
1
v




SPLT & SPLT.M Series

Split Case Double Suction Centrifugal Pump
Performance Range

SPLT 80-360

[M4sDAF]

SPLT 80-360  [1460 RPM

Curve No:840 a 4P

MAS GRUP
0-CAPACITY- Wsn)
0 » 40
|~ 3608
= 50 g1
E 40l— 3440 —f\h 619
A 61
[a]
< = 322p o Wil
w
= = N\
I}
S 29004 /N N 50
£ 5 2sznf
/ 1.3
T ~ el &
G
40
10 \\/
N 30
n
E 25
£ 5 e 3608 - 22 KW
] e T
o e 3440 - 10.5 KW
w45 | ]
= e = 3220 - 15 KW
2 10 /——-:-zau " ‘kw
9
B — i i
™~ L e 2626 - 7.5 KW
o 5 ﬂ-“"" 2435 -5.5 KW,
-..—-.-—_——'-_.——_
D T
0 20 100 120 140 160
Q- CAPACITY - (m3/h)
E‘ 4 1 3608
T3 2438
T -
[ P2 e
o
= 1
0

MAS |DAF

Mas Grup

(W45 IDAF|

SPLT 80-360

Curve No:840.a 2P

50
Hz.

MAS GRUP 2980 RPM
Q-CAPACITY - [sn)
0 10 &0 & 8
200
30
I~ 3600
=
£ [ 3440 595
a 7\58
150 1 3249
A 55
T |3
= 50
8 }— 2689 N
.
£ 100 f=2750 — o4
T \Q: § >
50
0
g 200
T / ]E[‘n— 200 KW
o 150 3449 ‘- 160 KW
]
- 3246 - 132 KW
% 100 -""__,:_:nsn—laz KW
o et 2808 - 110 KW
: | ] 2756 - 90 KW
2 & %
0 T
0 50 150 200 250 300
Q- CAPACITY - (m3/h)
12
z 10 /3608
.?. g 2754
T 6 >
& 4
< 2
0




SPLT & SPLT.M Series
Split Case Double Suction Centrifugal Pump [m m]

Performance Range SPLT 100-250 Mas Grup

- Curve No:1031.a.4P m Curve No:1031.a.2P
(#as DAF 50 [mas DAF| 50
MAS GRUP SPLT 100-250 1480 RPM Hz. MAS GRUP SPLT 100-250 2980 RPM Hz.
0- CAPACITY - Wen) 0-CAPACITY- Ven)
0 10 2 30 a0 50 60 70 80 0 20 a0 60 80 100 120 140 160
| 1 | | 1 | | 1 1 | 1 L 1 1 1 |
| 140 i i
- 2940 _-TELTEU_"N PTG 1] L 20gp el 0 B0 (70 g w}
g ¥ 9356 E 120 B g3
*: AL J— 83 e e 2000 e H a3 |
a [a]
2 5 1=265 J Phgee 100 2850 — NGB
x |— 2508 & T |— 2500 \ 3
3 3 ]
S 20235 ~ \ \J S 80[=235 \
E | 220p >\ E L2208 \%Z >S7n
T 5 i T &0 -4
w%m N&< X’
10 ~ L \\f
5 20
0 0
g 3 :
k2 2948 - 22 KW < 150 __..-1: 294 - 160 K
1] 1] o
& 2808 - 18.5 KW o /__,..-— 2808 - 132 KW
15 ‘ |
E ;,’,——25%—1‘5 K E 100 d‘/:/j’;‘___zsﬁgf!wkw
R et 2 e
. e 2358 - 9 KW . L 2358 - 75 KW|
N %_‘4___.—-—'_—-— 2208 - 7.5 KW g 0 g:—f_{// 2208 - 55 KW.
5 ——— _‘—-—"—'____.——'—"""-—-——_
_.__—-_-.‘
0 0
0 50 100 160 200 250 0 100 200 300 400 500 600
Q- CAPACITY - (m3/h) Q- CAPACITY - (m3/h)
9
3 ; )
5 2949 = & —— 2949 =1
$— 5 220 6 _/ ‘?’ th 2290
5
g M= ‘ = f'@l
| |
0 L 0

18



SPLT & SPLT.M Series
Split Case Double Suction Centrifugal Pump [m m]
Performance Range SPLT 100-315 Mas Grup

Y] sPLT100315 [rasoren 30| [diaod] SPLT 100315 [zsg0mem |30

MAS GRUP 1460 RPM MAS GRUP 2980 RPM
0- CAPACITY - /n) 0- CAPACITY - /en)
0 10 2 e 4 50 50 0 & 0 20 40 0 8 10 120 140
\:
50 = 3474 201180 85 7075 13 == 320m
- 799
£ 1y , g beig
i b 3274 E X = 150 {3009
75
2 40 / J ] 3 | 2854 70
“ PR “
T | T
— | 295§ —d 65 - 2718
g 2800 >$\ >\ 'g 256
o —
il nw It X = q00] L7 55
£ b= 2626 \ / =
T >( T
b 2399
20
K? 50
50
10
0 0
g “© g 2540 3204 - 250 KW
& 3474 - 37 KW ¥ -
Y 30 | // y 200} ] 3076 - 200 KW
= [ T e 3270 30 KW & e S0 - 105 KW
% " | % 150 5/‘.-:_' 4 2850 - 160 KW,
st 2950 - 22 KW, e i aa
a % e e T e 20 10 S K 100 "/Eg %Eﬁ: SNORWELL T
Py 107/ e E %‘___’/—;
—"T] 50
|
|
0 | | 0
0 50 100 150 200 250 300 0 100 200 300 400 500
Q - CAPACITY - (m3/h) Q - CAPACITY - (m3/h)
- [ / 10 i T
3 | 3474 , 3208
£ 2394 /’ E 3 S /
: -
:' 2 /. —— :' 6 V/
| 7] e
gj’ 1 / o 4 e m———
= H Z
0 0

19



SPLT & SPLT.M Series
Split Case Double Suction Centrifugal Pump [m m]

Performance Range SPLT 125-400 Mas Grup
m Curve No:1245.a 6P Curve No:1245.a.4P
A SPLT125400 [osorem (30| [MEALLY) SpIT125.400 [1s0rem |20
0 2 40 &0 Dimpﬁé‘gmi o 100 0 2 s 5 0 00 D_GA??DC i ::fg] 150
= 4504 _____15_”_:‘0 65 79 . = 4508w %0 60 65 | 5o i
2 25 A N 2 60 = 408s N
W g9 :ﬁ 7 >zu w m\ﬁ% 70
= =370 b= I 379 ] N
E 20 uﬁ)d >& \55 E 50—_34“&_ w\% \<\ n
Y iy # i
I 45 60 I \ \<

BEcan ras %0
S

10
20
5
10

0 120

E 30 E‘ [
1509 - 30 KW| = 4504 - 110 KW

% e 5 e —skw
& //-mrzzkw & gy L U
w 20 w — L= 4088 - 75 KW
3 // 3938 - 18.5 KW 2 e ] |
O 15 e 3708 - 15 KW o &0 37955 KW
. = ' | e 3489 - 15 KW.
o 10] e 3358 - 11 KW._| - 40 %‘_ I
o o ../

5 e

0 0

0 100 200 300 0 100 200 300 400 500 600

Q - CAPACITY - (m3/h) Q - CAPACITY - (m3/h)

6 12
- — A
E s nes // 4500 3 10 — 1500
T 3 p i // T : 3480
v 3 T, 4 o, o
£ : — £ . )

0 . T

20



SPLT & SPLT.M Series
Split Case Double Suction Centrifugal Pump

Performance Range

SPLT 150-250

m Curve No-1025 a 6P 50
MAS GRUP SPLT 150-250 960 RPM Hz.
Q- CAPACITY- Wsnl
0 1 2 &y 40 50 ‘ &
| |
[ LN S0 B0 g
o 2788 = 75 o
= [ 2645 —=— 80
D‘ >\
oy ® b= 2434 —7717K IZdiRa: N5
: Rt
£ glze5m = 70
[
é l— 2054 _.L_LCMQ%
r 5 \\<)<
i N
2
0
E 10
X — 2
£ H e 2788 - 11 KW
o 2649 - 7.5 KW
£ s ] é/' |
3 2430 - 5.5 KW |
o~ = 20598 - 3 KW
R
0
0 5 100 150 200 250 300
Q- CAPACITY - (m3/h)
E 3 2789
2 205
b L ——
2 1 el pee]
=
0

21

MAS

DAF

50
Hz.

Mas Grup
!mm Curve No-15a 4P
MAS GRUP SPLT 150-250 1480 RPM
Q- CAPACITY - [Vsn)
0 10 60 80 100 120
| 1 | | . |
|
50 |
T 2009l 0 60 m ‘L
E 83 |
~ 81|
a — 2599 ma—a] m
ﬁ 20 |
T e 2400 | i I
=
[=]
[ 80
N 2209
p 16 =
T 7507
|
e RN
5
|
|
0 !
g |
g 30 / 280 - 30 KW
: t
I
E 20 _’_.__._—--—" e 259 - 22 KW
| ____,___.--—"-—/ 2405 - 185 KW
2_ ;ﬁﬁ__— 220 - 15 KW
g B T L
|
0 |
0 100 200 300
Q- CAPACITY - (m3/h)
E i // 7808
. 220 |
z 3 !
g 2
R
0




SPLT & SPLT.M Series
Split Case Double Suction Centrifugal Pump

SPLT 150-250

Performance Range

[M4sDAF]

MAS |DAF

Curve No'15a 2P

MAS GRUP SPLT 150-250 2950 RPM Hz.
Q- CAPACITY - [Vsn)
0 & 100 150 200 250
% su‘
__ 100 E i m—— e 27 30
e 2708 e
£ | 7\ ¥ a7
A — 2608 ——— 82
(=] 1
xosafllLt 31 N"
w — t P
® = 233p —
£ | )
« B0 2208 ] e \_\
£ [ “‘-k@\ 75
T el
- |
20
0
= 250
X 2808 - 250 KW
& 200 _____/j 2708 - 200 KW.
& L - 7608 - 185 KW
= 150 e e 2ba- 160 KW
o et I i e e 2330 - 132 KW
B 00 [ e e 2208 -110KW__|
E " .—-—"'—_._—-—-_,_._.—""'———"'
B 1
o B
0 100 200 300 400 500 600 700 800 900
Q - CAPACITY - (m3/h)
14 i =
£ 12 | 2808
= 10 2208
r 8
E 6
4
= 2
0

22

Mas Grup




SPLT & SPLT.M Series
Split Case Double Suction Centrifugal Pump [m m]

Performance Range SPLT 150-315 Mas Grup
Curve No:1540.a 4P Curve No:1540.a.2P
(Mas [DAF| 50 (M4s [DAF| 50
MAS GRUP SPLT 150-315 1480 RPM Hz. MAS GRUP SPLT 150-315 2980 RPM Hz.
Q- CAPACITY - (lfsn) O-CAPACITY - [Vsn)
0 5 100 150 20 0 50 100 150 20 260
T T T 160 T
3400 L 5|ﬂ [ L 3208 el 50 60 55‘
£ 4 iy gL £ 140 L s R iy e LS
=< 3208 30 v ’ Tr 2 es
E \ 80.7 9‘ 120 [ 2928 \ 78
£ ts SR : SRR VBN S
== = P 2750 |
= = 2665 o 75 T 100 [~ 2680 =l =di Z:
2 2 259 ———
. 70 P 70
£ = 264 o, | £ . . :
T 2 \\ f = ‘\kQ 65
\\Q/“)\ 5\> 60 60 ™.
\< E T
40
10
|
{ 20
0 400
X s
L 3400 - 3204 - 355 KW
"T 50 /____,___.—— 3408 5‘;, Kw| x‘r 300 / = S14a- 315 KW
5 ® ‘/ e 32:na - 45 KW = % L 2920 - 250 KW
= | b= 3005 - 37 KW = 500l e b 200 kWL |
o 30 e B WS o Y | o 20 e Ji - 105 KW
o fr™" T I | o / e Th0g - 160 KW
20— e 2645 - 22 KW, - e
Py e — a 100
10
|
0 0 !
0 100 200 300 400 500 600 700 0 200 400 600 800 1000
Q- CAPACITY - (m3/h) Q- CAPACITY - (m3/h)
! 14
£ 2 | Pl T 12 P4ITEESE
T 4 %49 = 108 25;9}/
g = g
4
= ; z 7
0 I 0

23



SPLT & SPLT.M Series

Split Case Double Suction Centrifugal Pump
SPLT 150-400

Performance Range

[M4sDAF]

Curve No:1545_a 6P

SPLT 150-400

MAS GRUP

980 RPM

50
Hz.

0 20 40 60 80 100
1

Q-CAPACITY - (Vsn)

1‘20 140
|

30 TTNN 80

20

@

Hm - Total HEAD - (M)
T Il
- w -y
g ¢ g

N

N

60

Q- CAPACITY - (m3/h)

10
™~

0
E 40
X BREREEe i aand 4508 - 37 KW,
n': 30 = e 1279 - 30 KW
% 20 el et 3850 - 22 KW
o — e 3609 - 18.5 KW
. ////.//_____-__-—_—-"___‘_—- 3384 - 15 KW
2 10 %5_—-‘;—'

0

0 100 200 300 400 500

- T .
E 6 338 0 L
v B ;
T 4 >
w3 ¥
% 2 4‘_.//
1
0

24

MAS

DAF

Mas Grup
m Curve No:1545.a 4P 50
MAS GRUP SPLT 150-400 1480 RPM Hz.
O-CAPACITY- Wenl
0 50 10 150 200
80 J‘
L~ 4500 308070
‘E 70 o 4355 e B0,
£ \/\ .
2 81
2 60 = 4100 — 80
i
T 3060 e \ﬁ)&?s
‘g ) l W \%\%
-
5 - 3450
£ o <>
= ‘\L< >\%‘
30
\\
20
10
1d3
g
X 120 == 4508 - 132 KW
" 400 e 4355 - 110 KW|
& T a10s-90 KW
% 8o g/  —E6e 7S KW
o 60 y‘f‘ ;—:';/J:— s EEEW
o 40-% =]
o |
20
0 |
0 100 200 300 400 500 600 700 00
Q- CAPACITY - (m3/h)
12 : ]
£ 10 } / 4508
T o8 M58 ,/
Z o g
o 4 =
= 2
0




SPLT & SPLT.M Series
Split Case Double Suction Centrifugal Pump [m m]

Performance Range SPLT 150-500 Mas Grup
Im Curve No-15a 6P 50 mm Curve No‘15a 4P 50
MAS GRUP SPLT 150-500 980 RPM Hz. MAS GRUP | SPLT 150-500 1480 RPM Hz.
Q-CAPACITY- [Usn) Q- CAPACITY - [Wsn)
0 2 a0 & 3 100 120 0 5 100 150
| l 1 T
120 |
50 =560 mee |57 60 557!7.. 560 S0 T80 g5 by }
e = N R i Y
—_— 76 — 76 |
. h— 5284 75 T 100 j= 5308 75
9 o B aetae) g L ,ﬂ
wi 5008 7 5 ¥ w >\\ |
= L P I o470 —l T | |
£ & L] ] >
g “ s b= 4550 t}SX\ |
S = 4355 f 65 [
£ E 60 SN |
T 65 T N~ T
|
20 |
40 } }
| |
| |
10 20 {
|
.‘
0 0 1
|
g ® 5605 - 55 KW, g 200 ‘ 5604 - 200 Kk
T 50 | e 220 T = 5530 - 185 KW
& i / 5285 - 45 KW & 150 //__,-; 5308 - 160 KW
o o
g » e P
f 4554 - 90 KW
) e e 4350 - 22 KW, . e
—— L w——
10 e —_—
0 0
0 100 200 300 400 0 100 200 300 400 500 600
Q- CAPACITY - (m3/h) Q- CAPACITY - (m3/h)
10 - -
E 4 / st E s 5608
T3 4359 // T 455 ¢
E 2 e 3:1 :
% 1 % ==
0 0

25



SPLT & SPLT.M Series
Split Case Double Suction Centrifugal Pump m m]

Performance Range SPLT 200-315 Mas Grup
o Curve No:2040.a 6P Curve No:2040.a 4P
EZGLIH spLt 200-315 so|  [EZACITl spy 1200315 30
MAS GRUP 980 RPM Hz. MAS GRUP 1480 RPM Hz.
Q-CAPACITY - [Vsn) Q- CAPACITY - [Ifen)
0 2 0 & % 100 120 140 160 0 50 100 150 200 250
' 40 T T T
s | 50 ‘
16 =3B e 80 65 ., = 3280 ~— 8065 o
z = £ | i
T e — . i I 7\7\9
2 L 78 Q o[- —— N 78
wi 2949 m——t = ] [ L
T 12 ~— ~ T I 2068 s |
LTS s i
5 o 27e— = R
£ s hu \% X £ 20 2508 me. L 65
T 8 = - T -“4"4\\\
™ /\
. NOAL
\</; 50
L=
4 10
|
2 I
|
0 n
25 90
g g w0
< 5 b 3205 - 22 KW £ 5 3288 - 75 KW
o /:__,__...-— 3039 - 10.5 KW 2 65 g |
w45 o R o —r w {4 e 29205 - 55 KW
= — = 2948 - 15 KW | = 50 7 ;
[e) /ﬁ____-—— \ S . L] pm—— 2058 45 KW
. 1 %ﬁ 2678-11KW | o B e 683 KW |
. —— N 2508 -30 KW
a 6 it S 2419 - 7.5 KW S 5 ?____ » |
10 |
i | |
0 100 200 300 400 500 600 0 100 200 300 400 500 600 700 800 900
Q- CAPACITY - (m3/h) Q- CAPACITY - (m3/h)
8 T T
£ ; E / 3288 £ 12 // 3288 |
£ =1
T 2 2:] d 7 T 10 250 @ rd
[ e o g 7 4
- . e Z 4 P et
2
0 0

26



SPLT & SPLT.M Series
Split Case Double Suction Centrifugal Pump [m m]

Performance Range SPLT 200-400 Mas Grup
Im Curve No:2040_a 6P 50 m Curve No:2040.a 4P 50
MAS GRUP SPLT 200-400 980 RPM Hz. MAS GRUP SPLT 200-400 1480 RPM Hz.
Q- CAPACITY -  [Vsn) Q-CAPACITY - [Vsn)
0 0 100 150 0 50 100 150 200 20
30 | 4308 080707500 O e TS T8 70 T | [ o
= 83 - 83
£ 83.5 £ \I\P 83.6
= | 83 = 60 f=1108 83
g B [ SIS 2 Riiiiin, -
< = 3860
WS SO e
- 5 = 75
& 2 [ == 3608
B! - °
 QuERRSrE ST BAS] f I f‘t-/:\g;x 5%
E 15 E
x ~ R T 50 < 70
10
20
8 10
0 ° |
g 50 g |
< | 4305 - 45 KW < 150 | e 4308 - 160 KW
40 - | T
& 03 37KW @ ‘ | t0n-132kW
% 30 B e E . J 7//"-4336!—11ﬂ KW
o | 360¢ - 90 KW
o 3 ’_//_-ﬁ 343g - 22 KW. ﬂ_- é é_——— 3400 -?5 Kw
o~ // ™ 50 — |
o 4 .—-"‘-::""_.__-—-—"""_-_‘ o [ T
|
0 0 1
0 100 200 300 400 500 600 700 0 200 400 600 800 1000
Q- CAPACITY - (m3/h) Q- CAPACITY - (m3/h)
6 1 |
= /43, = 10 ! 0w / 430
§ j M35 i : . f / Laes
' ] 7
T 3 P T 6 A
g 2 — 2 4 2o == il
= =
1 rﬁ 2
0 0

27



SPLT & SPLT.M Series
Split Case Double Suction Centrifugal Pump

MAS

DAF

Performance Range SPLT 200-500 Mas Grup
Curve No:20a 6P Curve No:20a 4P
[MAS |DAF] 50 [MAS |DAF| 50
MAS GRUP SPLT 200"500 980 RPM Hz. MAS GRUP SPLT 200'500 1490 RPM Hz.
Q- CAPACITY-  ([lfsn) Q-CAPACITY - [Wsn)
0 50 100 150 200 250 0 100 200 300 400
| - | | | 1 120 1 | 1 |
50 |
= 5600 50 g 5600 50 6o
£ 530 :Dm 7 E 100 /=50 r\;ﬂ_‘f
e ] == ]
i 80 i TS 80
Q 40— sse 7\5"'5“ Q  [s0a. o
i o it
= [~ 464 L T 801400 ~J 75
.g i \J0 «g I~ 4540 | L] 7\ 70
- 30 —-435;,__1___% e \ Pt [ 440p o >\
K } - 60 i 7 .
: NN : TR
20 ,{
V\Q 40 ‘\Q{\
10 20
0 0
s 120 i S 400
E., 100 i /_m;nn-inn Kw KT I | 5605 - 355 KW
x® g | = 5309 - 90 KW o 300 g e 530‘5 -315 KWL
[} L 505 - 75 KW w "1 — 5000 - 250 KW
% 60 et _/C/ % 200 // "‘._4-70‘; - 200 KW,
o e e e | = 4648 - 55 KW a — " 454a - 185 KW
G W R e et e = e B
& a 100
0 1 0 -
0 200 400 600 800 1000 0 200 400 600 800 1000 1200 1400 1600
Q- CAPACITY - (m3/h) Q- CAPACITY - (m3/h)
14
! 1
£ j ! 1354 / 560a £ :g // 5608
T T 440
T 3 / z 8 §73 ttad
7 o “ 6
a — o 4
Z ‘ H
1 2
0 L 0

28




SPLT & SPLT.M Series
Split Case Double Suction Centrifugal Pump

Performance Range

SPLT 200-670

[#4s[DAF]

SPLT 200-670

Curve No:2060 a 6P

50
Hz.

MAS GRUP 990 RPM
0-CAPACITY- Wsr)]
0 50 100 150 200 20 30
50 |
70 = 680¢ 50 55 y AR
—_ [~ 6500 —— 78
E  |s3 —-ﬁg 792
1 78
a 60 =
Wit
ac —s71
° b 542
-
é 40 P, T, o5
= \\
30 \<\(f 60
20
10
5 |
g 0 680 - 200 KW
= -
T L 520 - 185 KW
@ 150 A_“'—’—:sas;-wu KW
E 600 - 132 KW
9 100 = -‘__:__‘.-‘-57I¢-!1DKW
. 512 S0 KW
o~ /% |
o 50 ] 1
"7 |
0 |
0 200 400 600 800 1000
Q - CAPACITY - (m3/h)
= 0 . * iy o
E 4 547 n; /
T 3 FaEER s
5 . =
= 1F—-=?—” |
0 |

29

MAS

DAF

Mas Grup
‘@ Curve No:2060.a 4P 50
MAS GRUP SPLT 200-670 1490 RPM Hz.
- CAPACITY- Wer)
0 100 200 300
| 1 - | - 1
‘ | |
5 |
160 = 680p 60 65 gp_ | |
o —-aszu:;ll_ 5170 |
| 35 797 |
= [T S\ L78
a  |—sp« ™ 75
P i
T 120 =550 2 - ~
T sy g A O A
o . ., ol
F 100 —— Q
E < ; 65
M, |
T 80 W 60
60 f\
|
40 .
|
20
n
s 800
< b Ll 6804 - 700 KW
1 600 = 6524 - 630 KW
o R ma) A
W 500 5200 - 500 KW-—
S L
— 5804 - HTTT
& 300 e t62p - 355 KW
. =
2 200
100 ‘
nl |
0 200 400 600 800 1000 1200 1400 1600
Q- CAPACITY - (m3/h)
10 T T
T 8 5624 7 ang
T & AT
z T
2 4
Z ==
0




SPLT & SPLT.M Series
Split Case Double Suction Centrifugal Pump [m m]

Performance Range SPLT 250-315 Mas Grup
- Curve No:2540.a 6P Curve No:2540.a 4P
MAS |DAF| 50 (M43 DAF| 50
maseror| OPLT 250-315  [980 RPM iy maserup| SPLT 250-315 [1480rPM |}z
Q-CAPACITY - [Vsn) Q-CAPACITY - [lisn)
0 50 100 150 200 250 0 100 200 300 400
\ [
18 3aug|—_.. 50170775 ah = 330p =t 58 v ?5‘ 80 {
= 7 83 _ 83
E . ! Fh\“ 85.1 E I Atte —q%m\ 85 g5 1 |
‘Dt S 3U4u|—-. / %&J ) 85 - é 30 fm 3020 3 {
W 12 2908 8 w 80
x ' > = & |
s erache L >< 78 E T 2768 = [ 75
5 10 . N s < §< i
\ 70 + 9 70
£ £ N Ner 71
~ s
6 !
|
4 10 }
2 |
|
: o @
g 30 == 330 - 30 KW g 100 %:m;-nnxw
o // o 80 L WTe- KW
] i = 3049 - 22 KW w e L 302n - 75 KW
% 2 T |t 2808 - 18.5 KW % 60 /4%’4_,_——" |
B __.—-.—-ﬂ"__,.uﬁﬁ-—— 2758 - 15 KW o "_..--—-—‘___‘//"___‘_____—- 2769 - 55 KW
R s caae N e ges
o Ll sumaEE |
1
0 0 |
0 100 200 300 400 500 600 700 800 900 0 200 400 600 800 1000 1200 1400
Q- CAPACITY - (m3/h) Q - CAPACITY - (m3/h)
£ : i //:unn g1 J P ——
T , T 8 ! I
T ; Fe i T 6 2768 ,/ !
e 2 e ? 4 . 5
=z ]==§>{@— Z ,
0 - 0

30



SPLT & SPLT.M Series
Split Case Double Suction Centrifugal Pump [m m]
Performance Range SPLT 250-400 Mas Grup

@ SPLT 250-400 Curve No:2545.a 6P 50 Em@ SPLT 250-400 Curve No:2645. 6 4P ﬁzo

MAS GRUP 980 RPM Hz. MAS GRUP 1480 RPM
Q- CAPACITY - [Wsn) Q- CAPACITY - [lfen)
0 100 200 300 0 100 200 20 400 500
| I
30 60 7' ! n 60
|— 4500 — D75 g0 |, } = 4500 ML T
= = 4409 —! 85 | - 85
5 S g Wi s,
L P83 . 83
Q| a0 Q e Al
ﬁ i [ 400¢
75 50 7
I T L T [= 3860 P
= =
£ 7 <amse ] \\ e £ Lww o
[ = F 40 N
. b 3455 ' [ 3450 ~—im |
E 15]_ S | q E
T = 3200 _.‘\1* T
30
| N
‘ ™
10
A 20
5 10
100 0
E 80 g 0
4500 - 90 KW 4504 - 315 KV
=] " = Lo
y | M0 - TS KW : L 4358 - 250 KW
§ s0 = i —
2 /y e 4078 - 55 KW = 200 /nzlnum:u:\zw
© w L | 1650 - 45 KW o /’,ﬁﬁg 160 KW
- — ! g
o~ =345 - 30 KW e 100] »
2 20'//-'/.:2%-22 " o
: |
0 1 - : 0
0 200 400 600 800 1000 1200 0 500 1000 1500 2000
Q - CAPACITY - (m3/h) s Q - CAPACITY - (m3/h)
7 T
= / 4500 T 12 A~ a50)
E § P E 4 > it
- —r v 'S 5
5 3 Bl // ﬁ 6 345 4 o
g 2 e = 3 —
0 0

31



SPLT & SPLT.M Series
Split Case Double Suction Centrifugal Pump

SPLT 250-500

Performance Range
- Curve No:25a 6P
[MAs | DAF| 50
MAS GRUP SPLT 250-500 980 RPM Hz.
0- CAPACITY-  Wen)
0 100 200 ‘
50
| 5608 ey 500 70) o
£ | 54245 = 90 L
_: 40 1 — r\ﬂ 85.3
a = 5159 — il ot
- |- 4305 ~— X 83
X X 80
g 30 |~ 4445 -_\KL ~ \?5 i
£ \J\\ &( ; Y
T
20 \\( [
L
10
0
140
g
X 120 5608 - 132 KW
X 5426 - 110 KW
o 100
E i S e S15e- a0 KW
3 = T 4908 - 75 KW
A 80 — [ daan 55 W
o~ 40 —
o é :
20
ol
0 200 400 600 800 1000 1200 1400
Q- CAPACITY - (m3/h)
6 t
T 5 /5608
g : -
I 3 144¢ P
E 2 g
= 4
0

32

MAS

DAF

Mas Grup
ml@ Curve No:25a 4P 50
MAS GRUP SPLT 250-500 1490 RPM Hz.
Q-CAPACITY - [#sn)
0 100 20 300 400 500
T E—— R T
= 100 e T ],
= — 532¢ 85
: b= 5174 g5.2
=} 85
J :
u 80 == 488g ~ {80
= L= 1649
-E b 4520 | 7
=4 70
' 60
£ N
£ \ AN
1)
40 \ N
20 |
F
|
|
508
g
560 - 450 KW
T 400 '____a—‘;‘fm-—'mn Kw—
o // 5324 - 355 KW|
E 300 /’__A-sna—ms KW
o //ﬁsu - 250 KW
. 200 4 e 4649 -200KW____ |
o [ = 452@ - 185 KW
o 100 % [
0 |
0 500 1000 1500 2000
Q - CAPACITY - (m3/h)
= 10 | e eaon LLLL
i =z
I 6
= — 452
o 4 =
= 2 M
0 1




SPLT & SPLT.M Series
Split Case Double Suction Centrifugal Pump [m m]

Performance Range SPLT 350-400 Mas Grup

Im Curve No-2540 a 6P 50 m Curve No:2540 a 4P 50
mas cror| SPLT 350-400 [980 RPM Yy mas orop | OPLT 350-400 [1400rPM [}2
Q-CAPACITY -  [Wsn) Q-CAPACITY - [I4sn)
0 100 200 300 490 00 0 100 200 300 400 500 800 700
- 4384 LT m gom e %0 7y !
T 25 83 E 83
E — a5 E = 4150 | 85
' 85.4 ' 85.4
[=} 85 0 sl \b\ 85
o 20 = 3830 83 z T anes w7
T ] T [ 80
= =364 \ s = 3670 e | TN
2 I~ 3470 NS e 40 = 3504 ~— N )\5
ol \ : A e B SN
T -‘N | I 30 N N
60 ~<
Vo
20
NINT
\V‘\ \T\
b 10
0 0
E 100 E t
= — 4384 - 90 KW X< 300 ] e 438 - 315 KW
] il N |
x /_‘-*’:_—_—-—-4}85-75 Kw ﬁ F //_.415;:-25:1 Kw
5 ® V/ TR = 200 : B i ot 3894 - 200 KW_|
o | 3835 - o e 379 - 185 KW
o 4 / /_,—-———'-—- 364@ - 45 KW o / ﬁ_—— 367¢ - 160 KW
2 — e 3470 - 3T KW [ = ' ] e eet— 3501d - 132 KW
Ny 327830 KW o~ 100 3308 - 110 KW,
o, — o -
{ l
0 l 0 I
0 500 1000 1500 0 500 1000 1500 2000 2500
Q- CAPACITY - (m3/h) Q- CAPACITY - (m3/h)
5 ] 7 EEHED?
= / 438e = /. 438a
E 4 / £ g 130 g 7
T 3 A T 4 |
2 > 3279 / & s 7
—r 'ﬂ—-—-l-l,E——
= = 3 |
0 0 1

33



SPLT & SPLT.M Series
Split Case Double Suction Centrifugal Pump
Performance Range

SPLT 350-500

[M4sDAF]

MAS GRUP

SPLT 350-500

Curve No:35a 6P

980 RPM

50
Hz.

200 3‘00

Q-CAPACITY - [Vsn)
400 500

1

50 {= s60m

40

8o

L

30

Hm - Total HEAD - (M)
||
Y Y
gt
= =

82
828
82
B
~
75
70
: \
~

X0

20

10

0
g N 560 - 250 KW
= e
. / ]
o 200 = 514 - 200 KW
] / T 5349 - 185 KW
= 150 et 515 1B0KW_____
o / P 300 132KW
« 100 e 47008 - 110 KW o
o~ __‘_,.———“"
o

0 500 1000 1500 2000
Q - CAPACITY - (m3/h)

E g 4708 A Eﬁnnli
' 4 e /
5 2 P e i
L 2 B et
z |5t |

0 |

34

MAS

DAF

Mas Grup

[mas [DAF|

SPLT 350-500

Curve No:35a 4P

50
Hz.

MAS GRUP 1490 RPM
Q-CAPACITY - /en)
0 10 200 00 40 50 60 700 80 %0
120 L I
| 5608 L o0 B0 7g ¢ H“]
‘é‘ e 543 et 4 82,6
= 100 5308 — i
a  |=stza—l e
2 |~ 500p —1
w L 49305 e 5
= 801—474p ] N70
I
: \(%
'
i I
1
40
20
0
E 900
X 800 [ === 560 - 800 KW
" 700 !
— === 5435 - 700 KW
ﬁ 600 /__,___. 5306 - 630 KW
2 500 e
2 400 — T aa3s - 450 KW
L o o 4748 - 400 KW
o 300
o 200
100
ol
0 500 1000 1500 2000 2500 3000
Q - CAPACITY - (m3/h)
12 T T
T 10 ‘ /5608
£ 5 174
:
I 6 i
7] —
a 4
= 2
0




SPLT & SPLT.M Series

Split Case Double Suction Centrifugal Pump
Performance Range

(71

SPLT 400-400

Curve No:40a.4P

MAS

DAF

Mas Grup

Curve No:40a.6P

50 50
MAS GRUP SPLT 400'400 1490 RPM Hz. MAS GRUP SPLT 400'400 980 RPM Hz.
60
™™ 4408 25 = 4404
E e ~T s E [T ~—_§ o
" 50 : 8063
a 2078 a %
5 T < 9 N
T [ 3850 86. u M 3618 86.7
s 40 3778 e A . = T —
s ™ 3628 N85 g 85
e >§m K 153450 >\a380
oy e i o2 G
20 % 10 h
10 5
0 0
£ 400 s 120
< e —— & Ss=m===SS
> 00 T T~ < _—— S
O 200 A 3856 - 200 KW. % 60 o T
o — ] 3776 - 185 KW 5 381 - 55 KW
- /.—-—————-—- 3624 - 160 KW 20 L]
a 100 —— 3200 - 110 KW E ol ﬁ‘»345¢ -37 KW
| 20 L] r——— 3204 isn KW
0 | |
t 0 }
0 1000 2000 3000 4000 0 000 1500 2000 2500
1 Q- CAPACITY - (m3/h) Q- CAPACITY - (m3/h)
- E P 7 '
E :: 30 7 140g T 6 3208 // 140g
. T 5
% : // r 4 / P
o -~ w 3 ’/ e
z 3 — e g 2
0 . : i




SPLT & SPLT.M Series
Split Case Double Suction Centrifugal Pump

Performance Range

SPLT 500-500

[#as DAF]

Curve No:5045 a 8P

MAS GRUP SPLT 500-500 740 RPM Hz.
Q- CAPACITY - sn)
0 200 400 600 800 1000
20
™ 4734
- 50
£ - 60
= 4569 65 o
a ""43713\ 75
o1 S SCE]
I 7
= ™ 4008
E 75
= 0
E 10 v N 65
T \ X
N
5
N
0
E 140
X< 120 4738 - 132 KV
o 100 ,..-——""f e 4563 - 110 KW
E s e 4375 - 90 KW
3 YT
o 60 =T 4004 - 75 KW
E 40
20
0
0 1000 2000 3000 4000
5 Q - CAPACITY - (m3/h)
z ? 4008 ——SF ok
< 6 P
r b e
o % ——_ il
g 3
1
0

36

MAS

DAF

Mas

Grup

Curve No:5045.a 6P 50
MAS GRUP SPLT 500-500 990 RPM Hz.
0-CAPACITY - Wsn)
0 200 400 600 800 1000 1200 1400 1600
40
— ™ 4954
E LTS 50
A 473@_.\ 50 g5 i
a
< o[ aszg iR
1] —~—
x ™ 4300 i 1
S [Tazes e
[=] B 75
: N\
s 70
% 20 . ™. \ it
S I
10 Y
0
g‘ 400
< | e 495 - 355 KW
] _-v-"'-—""-"——- |
o 300 /_____._— E— 4730 - 315 KW
I
E ____—-—-‘___-—-—"-—"“"" 520 - 250 KW
O 200 fmeme= e 4308 - 200 KW.
o e — 4299 - 185 KW
o 100
0
0 1000 2000 3000 4000 5000
Q - CAPACITY - (m3/h)
12 T
E 10 298 T S ause
T s P
P -
o 4 _—g—é
Z 2
0




SPLT & SPLT.M Series
Split Case Double Suction Centrifugal Pump [m m]

Dimension Table for SPLT and SPLT.M Mas Grup

[ A 1

F 3K 3
* w

| +
-
E 3 [
o -
OMs 1
Dimension of SPLT
o o) Flanges
ump 3
L e f hl h2 H A B G b ml m2 nl n2 Js | @d

Tye | € | pns |DONd | P

65250 | A | 100 | 65 | 585 | 260 | 325 | 250 | 115 | 425 | 285 | 225 | 510 | 70 | 240 | 190 | 350 | 275 | 18 | 60 | 28
80-250 125 | 80 | 680 | 300 | 380 | 280 | 140 | 485 | 300 | 275 | 575 | 80 | 234 | 190 | 400 | 330 | 18 | 80 | 35
80360 | B | 125 | 80 | 680 | 300 | 380 | 315 | 135 | 550 | 325 | 275 | 600 | 80 | 134 | 190 | 400 | 330 | 18 | 80 | 35
100-250 150 | 100 | 715 | 315 | 400 | 315 | 155 | 550 | 325 | 275 | 600 | 80 | 270 | 220 | 400 | 330 | 18 | 80 | 35
100316 | . | 150 | 100 | 820 | 350 | 470 | 355 | 145 | 585 | 360 | 320 | 680 | 90 | 200 | 230 | 435 | 350 | 23 | 110 | 45
150-250 200 | 150 | 870 | 375 | 495 | 375 | 175 | 635 | 400 | 325 | 725 | 100 | 340 | 270 | 500 | 400 | 23 | 110 | 45
125-400 150 | 125 | 945 | 415 | 530 | 375 | 175 | 700 | 450 | 400 | 850 | 100 | 370 | 300 | 500 | 400 | 23 | 110 | 55
150-315 200 | 150 | 945 | 415 | 530 | 375 | 175 | 645 | 400 | 350 | 750 | 100 | 370 | 300 | 500 | 400 | 23 | 110 | 55
150-400 | | | 200 | 7150 | 945 | 415 530 | 400 | 200 | 730 | 475 | 400 | 875 | 100 | 370 | 300 | 500 | 400 | 23 | 110 | 55
150-500 200 | 150 | 945 | 415 | 530 | 450 | 250 | 870 | 550 | 500 | 1050 | 100 | 370 | 300 | 650 | 550 | 23 | 110 | 55
200-315 250 | 200 | 975 | 430 | 545 | 430 | 205 | 730 | 450 | 375 | 825 | 100 | 430 | 360 | 500 | 400 | 23 | 110 | 55
200-400 250 | 200 | 975 | 430 | 545 | 430 | 205 | 790 | 525 | 425 | 950 | 100 | 430 | 360 | 600 | 500 | 23 | 110 | 55
200-500 250 | 200 | 1042 | 447 | 595 | 475 | 220 | 870 | 550 | 500 | 1050 | 100 | 460 | 390 | 650 | 550 | 28 | 140 | 65
250-315 | _ [ 300 | 250 | 1062 | 457 | 605 | 500 | 225 | 860 | 525 | 450 | 975 | 100 | 480 | 410 | 650 | 550 | 28 | 140 | 65
250-400 300 | 250 | 1042 | 457 | 595 | 500 | 225 | 865 | 550 | 450 | 1000 | 100 | 460 | 390 | 650 | 550 | 28 | 140 | 65
250-500 300 | 250 | 1062 | 457 | 605 | 525 | 240 | 945 | 600 | 500 | 1100 | 100 | 480 | 410 | 650 | 550 | 28 | 140 | 65
350-400 400 | 350 | 1290 | 570 | 720 | 610 | 295 | 1010 | 600 | 500 | 1100 | 150 | 600 | 500 | 750 | 600 | 28 | 140 | 75
350-500 | _ [ 400 | 350 | 1200 | 570 | 720 | 630 | 315 | 1055 | 650 | 550 | 1200 | 150 | 600 | 500 | 800 | 650 | 28 | 140 | 75
400-400 500 | 400 | 1510 | 680 | 830 | 725 | 345 | 1180 | 700 | 500 | 1200 | 110 | 600 | 540 | 760 | 650 | 34 | 140 | 75
500-500 500 | 500 | 1538 | 694 | 844 | 760 | 370 | 1280 | 750 | 600 | 1350 | 150 | 700 | 600 | 800 | 650 | 28 | 140 | 75

Dimension of SPLT.M

Note: SPLT is soft packing design. However, SPLT.M is compact design and only mechanical seal application is
possible. All dimensions are in millimeters.

Flanges
Pump | @ L e | ¢ |m |n2 | H A |B |G b |mit [m2 |n1 |n2 lzs |1 Jod
Type |5 | DNs | DNd P P
65250 | A | 100 | 65 | 455 | 195 | 260 | 250 | 115 | 425 | 285 | 225 | 510 | 70 | 240 | 190 | 350 | 275 | 18 | 60 | 28
80-250 125 | 80 | 507 | 212 | 295 | 280 | 140 | 485 | 300 | 275 | 575 | 80 | 234 | 190 | 400 | 330 | 18 | 80 | 32
80360 | B | 125 | 80 | 507 | 212 | 295 | 315 | 135 | 550 | 325 | 275 | 600 | 80 | 234 | 190 | 400 | 330 | 18 | 80 | 32
100-250 150 | 100 | 545 | 230 | 315 | 315 | 155 | 550 | 325 | 275 | 600 | 80 | 270 | 220 | 400 | 330 | 18 | 80 | 32
100315 | _ | 150 | 100 | 615 | 260 | 355 | 355 | 145 | 585 | 360 | 320 | 680 | 90 | 290 | 230 | 435 | 350 | 23 | 110 | 40
150250 200 | 150 | 665 | 285 | 380 | 375 | 175 | 635 | 400 | 325 | 725 | 100 | 340 | 270 | 500 | 400 | 23 | 110 | 40
125-200 150 | 125 | 696 | 300 | 396 | 375 | 175 | 700 | 450 | 400 | 850 | 100 | 370 | 300 | 500 | 400 | 23 | 110 | 50
150315 200 | 150 | 696 | 300 | 396 | 375 | 175 | 645 | 400 | 350 | 750 | 100 | 370 | 300 | 500 | 400 | 23 | 110 | 50
150-400 |  [200 | 150 | 696 | 300 | 396 | 400 | 200 | 730 | 475 | 400 | 875 | 100 | 370 | 300 | 500 | 400 | 23 | 110 | 50
150-500 200 | 150 | 696 | 300 | 396 | 450 | 250 | 870 | 550 | 500 | 1050 | 100 | 370 | 300 | 650 | 550 | 23 | 110 | 50
200-315 250 | 200 | 725 | 315 | 410 | 430 | 205 | 730 | 450 | 375 | 825 | 100 | 430 | 360 | 500 | 400 | 23 | 110 | 50
200-400 250 | 200 | 725 | 315 | 410 | 430 | 205 | 790 | 525 | 425 | 950 | 100 | 430 | 360 | 600 | 500 | 23 | 110 | 50
200-500 250 | 200 | 822 | 337 | 485 | 475 | 220 | 870 | 550 | 500 | 1050 | 100 | 460 | 390 | 650 | 550 | 28 | 140 | 60
250315 | _ [ 300 | 250 | 842 | 347 | 495 | 500 | 225 | 860 | 525 | 450 | 975 | 100 | 480 | 410 | 650 | 550 | 28 | 140 | 60
250-400 300 | 250 | 822 | 337 | 485 | 500 | 225 | 865 | 550 | 450 | 1000 | 100 | 460 | 390 | 650 | 550 | 28 | 140 | 60
250-500 300 | 250 | 842 | 347 | 495 | 525 | 240 | 945 | 600 | 500 | 1100 | 100 | 480 | 410 | 650 | 550 | 28 | 140 | 60
350-400 | F | 400 | 350 | 1000 | 435 | 565 | 610 | 295 | 1010 | 600 | 500 | 1100 | 150 | 600 | 500 | 750 | 600 | 28 | 140 | 75

37



SPLT & SPLT.M Series

Split Case Double Suction Centrifugal Pump

SPLT - Exploded View

MAS |DAF

Mas Grup

PART LIST

PART PART PART PART
NO NAME NO NAME
01 Casing Lower Part 201 Roller Bearing
02 Casing Upper Part 210 Key for Impeller
05 Wear Ring 211 Key for Coupling
20 Impeller 220 Oil Seal
30 Bearing Housing 240 Soft Packing
34 Bearing Cover (Dead Side) 260 Plug
35 Bearing Cover (Motor Side) 270 Greaser
36 Bearing Housing Cover 276 Adjusting Tap
50 Stuffing Box 300 Casing Stud
54 Gland 301 Stud for Gland
56 Lantern Ring 320 Hexagonal Bolt
60 Pump Shaft 321 Bolt
70 Seal Sleeve 360 Nut for Casing Stud
72 Ring 361 Nut for Gland
73 Space Sleeve 363 Washer for Bearing
74 Nut for Bearing 400 O-Ring (Stuffing Box)
88 Water Thrower 401 O-Ring (Shaft Sleeve)
200 Ball Bearing

38




SPLT & SPLT.M Series

Split Case Double Suction Centrifugal Pump
SPLT.M - Exploded View

MAS

DAF

Mas Grup

PART LIST
PART PART PART PART
NO NAME NO NAME
01 Casing Lower Part 200 Ball Bearing
02 Casing Upper Part 201 Roller Bearing
05 Wear Ring 210 Key for Impeller
25 Impeller 211 Key for Coupling
30 Bearing Housing 220 Qil Seal
34 Bearing Housing Cover 250 Mechanical Seal Ring
35 Bearing Cover (Dead Side) 251 Mechanical Seal
50 Stuffing Box 260 Plug
60 Pump Shaft 270 Greaser
74 Nut for Bearing 276 Adjusting Tap
75 Space Sleeve 300 Casing Stud
88 Water Thrower 400 0O-Ring (Stuffing Box)

39




Head Office / Service Center:
Aydinli Mah. Birlik OSB. 1.No’lu Cadde No:17 Tuzla - ISTANBUL / TURKEY
Tel: +90 (216) 456 47 00 pbx Fax: +90 (216) 455 14 24

Ankara Regional Directorate:
Asagi Ovecler Mah. 1329 Sok. No:6/9 Ovecler ANKARA / TURKEY
Tel: +90 (312) 472 81 60-67 Fax: +90 (312) 472 82 51

Factory: )
1. Organize Sanayi Bdlgesi Parsel 249/5 Beykdy - DUZCE / TURKEY
Tel: +90 (380) 553 73 88 Fax: +90 (380) 553 71 29

www.masgrup.com info@masgrup.com



